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4 10 0.1 7/ 10 0.15 /



A Cu(OH), B Cuy(OH),S0, C 3Cu(OH),CuSO, D Cu,(OH),

A
Cu®* OH
Cu®* OH 2 3
C
5 n NaOH

A A

A A 2n B A 180 C A 14n D A 27n

HZ
Si+2NaOH+H,0=Na,Si0,+2H,1 +2AL+2Na0H+2H,0=2NaAL0,+3H, 1
14 n n 2n 27 n n 3n
14n  27n
A> 27n NaOH H,3n
H,2n
A< 14n H,
14 A 27n B
6 KCL CCL, X X K U
cr 1.892 X cr Cr20,% KI
2.667

Cr,0% +6I" +14H* = 2C,* +3/,+7H,0

1. 892 xX 4.52  AgCl
X

A KsCrycl, B K;LCr,CLsg C KsiCr,CLy D KyCrCL,

KCL +CrCL, = KCLn- CrCL;m
X KCL m-  CrCL; m

7 10 90

A CusO,- 5n,0 B Na,0, C Ca0 D KNO,

Ca0 Ca OH ,
Ca OH , 0.1 1



10. Imol/L 100ml

0.1x 0.1x 1/x 160=0.8 B

” Fe OH Nao
Fe,0;  NaNO,
Fe(NO;), Fe*+ 1/2Fe,0, Fe(NO;), 2NaNO; 2NaNo,

0.1x 0.1mol 0.8 0.1x 0.1mol 1.38
0.8 1.38=2.18 D
2 2.3

A 1.12 B 1.12 C 1.12 D 0.156

H A B
3 20.95
16.15
KI
2Na,S,05+1,=Nal+Na,S,04 2mol/L  Na,S,0;4
16. 15
4HCL+MnO,=MnCL,+CL,1 +2H,0 25ml
MnO, 0.1x 3/4=0.75 mol MnO,
CL Mno, /HCI 21
Mno,

2KCLO, ="2KCL+30,1

Mol96



Xmol(20.95-16.15)
X=0.1mol KCL
MnO, (16.15-0.1x 74.57/87=0.1(mol)

KCL/Mn0,=0.1:0.1=1:1
KCL  CL” CL,
21, 4 Na,S,0,4
KCL Na,S,04
Imol  1mol
Na,S,04 0.1/2x 1000=50 ml
2mol/L  Na,S,04 50ml

AKCL  2cl,
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